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INSTRUCTIONS
Answer all questions. '
ANl questions carry equal marks.
Only one answer is to be given for cach question,
If more than one answers are marked, it would
be treated as wrong answer,
Each question has four alternative responses
marked serially as 1, 2, 3, 4. You have to darken
only one ecircle ar bubble indicating the correct
answer on the Answer Sheet using BLUE BALL

" POINT PEN.

1/3 part of the mark(s} of each question will
be deducted ol/malh ivionlz ahiwin (A wrohg
answWer means an ncorrect answer or' more than
one answers for any question. Leaving all the
refevant circles or bubbles of any question blank
will not be considercd as wrong answer.)

The candidate should ensure that Seties Code of

the Question Paper Booklet and Answer Sheet

must be same afler opening the envelopes. In
case they are different, a candidate must obtain
another Question Paper ot the same serics.

Candidate himself shalt be respansible for

ensuring lhis.

Mobiie Phone or any other electronic gadget in

the examination hall is strictly prohibited. A

candidate found with any of such objectionable

waterial with him/her will be strictly dealt as per

rules. .

Please correctly il your Roll Number in O.MR.

Sheet. 3 marks will be deducted for filling wrong

or incompicte Roll Number,

Warning : It a candidate is found copying or if
aity unauthorised material is found in
hisiher possession. F.IR. would be
lodged against him/her 'in the Police
Station and he/she would liable 1o be
prosccuted under Section 3 of the
R.PL. (Prevention of Unfairmeans)
Act, 1992, Commission may also
debar him/her permanently from all
future  cxaminations of  the
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it ot ot . €. (orgfm wneer @ Teum)
sfafrm, 1992 & P 3 & dea wead 6
AR T & amEr O et i wiysg &

B Ielt SRt 1w wlanel § frafig st
wEal ¥
[Contd...

www.upscstudymaterials.com



http://www.a-pdf.com/?wm-demo

www.upscstudymaterials.com

1 Which of the following combination is responsible for female sex
determination ?
(1) One X chromosome of male and one X chromosome of female
(2) One X chromosome of male and one Y chromosome of female
(3) One Y chromosome of male and one Y chromosome of female

(4) One X chromosome of female and one Y chromosome of male

it Rt frafor-d Ry Bea § § d-w dn g W g saed ¥ 7
(1) &S @ UF X 49y ud WRw @ @ X dEs
(2) TET B wH X GINH T AR B 0 Y
(3) Y&y & UH Y dagH UH AEw d qF Y qIE
(4) wEe @ TE X dyd Ud gE & Uh Y SR

2 Full form of nucleic acid DNA is -
(1) Deoxyribo Nucleic Acid
(2) Dual Nucleic Acid
(3) Developed Nucleic Acid
(4) Deoxy Nucleic Acid
§ . ow B oot E -
(1), , Sefadfe) feme ot |
(2) THIW qE S
@) Fawe s YR
@) It Yl s

3  Main propounders of 'Gestalt Theory of learniﬁg‘ are -
M _Werth.eime'r, Koffka and Kohler
(2) Koffka, Thomdike and Kohler
 (3) Wertheimer, Koffka and Frued
(4) Wertheimer, Frued and Kohler

qw @ G % gaghEw b owads 4 -
() =dtw, B T wE |
(2) R, AMSEE UH BIEL
(3) BRI, TEH Td WHS
(4) TR, BES, BEAL
03_C] 2 [Contd. 3+
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4  Which of the following learning objective is not classified in the 'cognitive i

~ domain’ ?
(1) Generalization (2) Translation
(3) Application (4) Pictorial depiction
P & ¥ P Sevd N % WIMIH®E X @ W™ § ¢
(1) VHEFIE (2) SIIR &HCU
() gwErT HE @ uhm REd

5  Which one is not a prominent characteristics of 'creativity' ?
(1) Ability of transformation
(2) Emotionalized tendency to react in certain way
(3) Re - defining certain word or concept
(4) Divergent production ability
P § ¥ B gomemaT @1 wgE faswer T ¥ 7
(1) SR & 9gd
) Ty afRafy & wiy fydw wiRfes wiifem & yas=
G) Tl & @ oEumen & AR ® @ e

(4) FwfogE IART @ Al

-6 Locate the correct range of "1.Q." of the backward children shown below-
(1) Idiot - 10 to 25

(2) Imbicile - 26 to 19

(3) Feeble minded - 50 to 59

(4) Dull and backward - 80 to 99

R S % dfm Sl @ gt o wd ofem gfe @ wme s
(1) W ghs - 109 25 | |

() o7 ghg — 26§ 49

() @@ gfg — 50 ¥ 59

(4) Tog sm® — 80 ¥ 99

05_CJ | 3 [Contd...
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Indicate ‘G’ for growth and D' for development for each of the following
statements -

() A six month old baby shows sign of teething

(I A three month old baby begins to turn over and lie on its stomach
(I) An infant begins to focus his eyes on an object dangling before it
(IV) A thirteen year old boy begins to have hair on his face

Select the correct answer -

(h M-b, -G dI)-G (IvV)-D

2) -G IH-Db, (I)-D, AV)-G

3 -G anp-Gg Jm-p, AV)-b

4y O-GADH-D, UD-G AV)-G _
ﬁwmﬁﬁ%uﬁm%waﬁq@awﬁaﬁm&%m'@w
e o I ®ud & ME D R -

() Us B 9% & Sk F AN F e

M) & W % D W I W BT W H AW e

() Tw 1y a0 oo o goohdl a% W &MY HhEw @l

(IV) s @ 9§ & <@ ¥ J2X W I B ST

Qe T B oW BY -

a1 O-D,I)-G (-G IV)-D

2y -G d)Y-D, dM)-D, AV)-G

O 4G A ey |y oo iDED

@ -G )-D, (-G AV)-G

Who are the two referred ‘humanist’ psychologists who have explained
human personality in terms of 'self and 'needs' theory ? .

(1) Maslow and Rogers
(2) Rogers and Skinner
(3) Cooley and Maslow
(4) Alport and Catell

T 3 HaEhiT wreE TS 6N ¥ RN aFe =i 9 e
@ U wrEsehaet & fhaid % oo ux @y ¥ ¢

(1) *Ee g Qe
(2) U T wWR
() & w FEa
(4) SO uwd i

05_C]J 4 [Contd...
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Which one of the following is not the important characteristics of 'self
concept”?

(1) Self concept is organized

(2) Self concept is the specific goal

(3)  Self concept is multi faceted

(4) Self concept is stable _

Pt 3 & oy — o W B Rt wewt w8 % 7
(1) orw — g9 JaReua oy &

(2) o - A i wey B ¥

() o — WA §F - SEE EE ¥

(4) IH - FHT Wl e ¥

The following Instructional strategies are mentioned in table 1 with their
learning. out - comes in table 2 -
Table - 1 Table - 2 .
(A} Visual aids (1) Creates the mental image of idea
(B) Use of analogy (I} Provides pre-requisite knowledge -
(C) Learner's active (I) To draw parallels between familiar
involvement  and new ideas "
(D) Advance organiser (IV) Provide tasks to perform
Match the correct set of order in above tables
1 A)-O, ®-dn, ©-av) O)-Jdrn
2 @A-@, B)-av), (C)-am, O)-dDn

CB)Y (B D (B) D, AE) ALV (D)1

4 A)-an, @y-a), ©O-¢V), O)-dm
frey anfeer 1 H & T oRym wRiiEl & e @ifve 2 ¥ 990 enildm
sty Sgew Rw g -

e - 1 et - 2

(A) 399 omuife weme () Relt fam @ wey wewm oy osifea

| & _

(B) Wyl W wart (mﬁﬁﬁraﬁﬁ_:mﬁmﬁﬁﬁ

AMETE TSR T B
(C) aftrmenal & ofisa () vs0 ¥ TRRE T F&6H o1 &
(D) R Hrew (V) Tl B &1 Freaiaa @
Sa A ot ¥ RY W wd w1 9 wW @ P Bt -
1 A-O, ®)-1), €)-av), {D)-dm |
@ AW-0, ®-av, ©)-Jam, @O)-a)
G A-@ G-3n, ©-a1v), @d)y-an
@ A)-an, @)-d, ©-av), {D)-amn

05_C] 5 [Contd...
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Foolish conformity to peer pressure is most likely to be motivated by -
(1) Safety need (2) Need for belongingness
(3) Self - Actua_lisation need (4) Achievement
givE & qae § qEae S B § @ Tew smayawar @ simia
AT 7 |
(1) g @ Snayaeh (2) HUIT B/ =Y
(3) oW TERE - IEARETT (4)  Suwhy

The drive - reduction theory of motivation is given by -~
(1) Hull (2) Freud |

(3) Maslow (4) None of the abové
M - gEes - W fAEl % WeRm § -

() =« | (2) wEs

G) Hew | @ T ¥ B T

Parents who wish to strengthen their children's achlevement motivation
should be advised to :

(1) Encourage children at an early age to hah_dle responsibility without
parentans heip.

(2) Tell their children that. failure in life brings suffering. -

(3) Warmly accept and praise their children regardless of whether they
- succeed or fail. _

(4) Recognize that young children can't be expected to do things
successfully without parental help.

Ay aftrwes W ot awEl O oueRy - GTROm @ wEE W e

& ¥ wifw -

(1) Wﬁmﬁﬁmaﬁw&mﬁm%ﬁaﬁm
I 3g Wed & |

2) _amﬁﬁwqﬁswwm@aqﬁaﬁmmgamﬁ%
(3) TR TEE YT & UG ATH, I WHX BE T STHT TN FL |

@) T SR B B s shvrEE & gera ¥ R R e @
wwad gde Frdet T8 @ wwd |

05_CJ 6 [Contd...
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14 Which test focuses on information acquired through the informal learning
that goes on in life ?
(1) Personality {2) Achievement
(3) Atitude ' (4) Intelligence
Fr 7 & o - w1 wdew S Siew o T aw emlvaie s
B AT geaerel 9 dwa ¥ 2
(1) =afFE e (2) SUwREr Tiemr
Gy sfmaft ol @ ez whem
15 To measure the degree of learning that has taken place after a person has
been exposed to a specific learning experience, which test is appropriate?
(1) Achievement tests
(2) Aptitude tests
(3) Diagnostic. tests
(4) Test - Retest
@ it aftrm egE wem #Y & wgar ol Re ®R @w gen
g 9 At &g P F ¥ @ - W wdew g ¥ 7
(1) Sgwis glemr
(2) stgia Tliem
G) | P | whem
(4) wlew wd gaaheer
16 In operant conditjoning, association between stimulus - response is on the
basis of -
(1) Law of Effect
(2) Law of Contiguity
(3) Law of Exercise
~ (4) Law of Habit Formation ) _
aftha ergieen ‘sgeee e e argfir ey T o ¥, @ ¥
(1) waE @ fam
(2) whaw @ Frm
(3) o= wm fraw
(4) o=al & FEv e FEm
05 . C] 7 [Contd...
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17 Concept of mental age was developed by -

(1) Stern (2) Wechsler

{3) Binet (4) Terman
Wmaﬁwm@nmﬁzﬁmﬁmqﬁwﬁmﬁm T -
(1) = (2) =3

3) fE= 4) <=

18 IQ of 'deal’ and 'dumb' can be tested by -
(1) Verbal intelligence test
(2) Non - verbal intelligence test
(3) Performance test
(4) Either (2) or (3)
T T AR @ ghewan @ TdEw dar ¥ -
(1) s ghewar e @x
(2) orifes ghewmr Tlam
(3) Froofed aligm
(4) (2) q1gar (3)

19  What will be the IQ of a child having, Mental age of 12 years and
Chrerologicabager 010 years )

: Q) 125 2) 83

7‘ G) 120 @ 110
T i (Taa AWied oy 12 a9 U1 Brrmi g lozrtsf% THD
gﬁ.ﬁﬁ%x N -

5 (1) 125 2) 83

G) 120 @ 110

20 The name of the theory advocating sudden solution to the problem is -

(1) Contiguity theory (2) Conditioning
(3) Operant learning (4) [Insight theory
s e Rl o & qronfve 9HEE # woEar & Wy E
() wrierr R Q) oM faerd
() whea g oftrm g () g w1 R
05_Cl | 8 [Contd...
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21  Extinction is the result of -

(I) Inhibitton (2) Lack of reinforcement
(3) Tension (4) Repression

frger @ TRom & -

(1) o=y (2) YIEET &I S

(3) T (4) <

22 Which is not appropriate regarding the learning ?
(1) Leaming is not affected by maturation
(2) Motivation facilitates learning
(3) Problem solving is highest level of learning

(4) Learning is change in behaviour
aftr % W § Sugwm W ¥ -

(1) o 9 aRueaar &1 gwE & gsar
) ofon § efem ¥ gRg oxh ¥

(3) W gMM AW @ Swaad wWXOE

@) e -sEeRT aReR B S

23 Meta - Cognition is the process based on -
(1) Self awareness regarding one's own actions or mental powers -
(2) Awareness of Multiple intelligence and manism
(3) Awareness of co-existence and sociability

(4) Potential of solving mathematical problems

A - B ol ¥Ee @ whemm P ¥ ¥ R w enafRa B
qT ¥

() Tl & T o & oF wwkem e 5 ol =-wew
(2) wgemEll ghe T wARdE@ wse
(3) WTEIARAE TE wmifedl & EEE
(4) witdrr guEmell & WU W
05_C] 9 [Contd...
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Which one of the following is not the function of the endocrine glands
in adolescents ?

(1) Maintain chemical balance

(2j Affect growth and health

(3) Control mental and emotional life

(4)‘ Control moral conduct

s o ¥ o — @ yed feaRd ¥ dEmrm sgw s i @
T E 7

(1) e dged g @l

2) afrgle wd @mer ® gwRE &

(3) MY OF AT SR

@) e emare Frefm ww

Which one of the following is not used in an interactive video system?
(1) Video caseite |

(2) Video disc

{3) System provided by an interface to microsoft

(4) All of the above

U AQhaIcs [dedl e d e 7§ ®—a1 eI warr Tel e ?
(1) fafsm He= |

(2) Ffem fws

(3) TR Yow B

4y swfw @

Computer acts as a teacher modes of the following

(1) Discovery mode (2) Simulation mode
(3) Tutorial mode (4) Drnll and practices
X Th Wew B aE DR ol § -

OB i (2) TR TR

(3) R yome @) oA @ gEE

05 C1 10 [Contd...
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27  You want to select certain test for guidance and counselling to your students
for different activities -
Activities Set of tests
(A) For concurricular (I) Mental ability and aptitude
(B) For problemed children () Intelligence, aptitute and interest
(C) For case studies (Il1) Intelligence, aptitute, interest,
personality and adjustment
(D) For group preparing for  (IV) Personality
" Performing different task
Select the appropriate test for the above activities -
(1) (A)-d1n, B)-av), (¢3-@), D)- 1N
2y (A)-{0D, B)-1V), -1, O)-O
Gy (A)-dn, B)-av), (©-dm, @-O
4y (A)-{dD, B)-av), ©)-O, {O)-dD
wiaua Tlafaliel ¥ e oel & s ofofRmY & Pdsm o wmd
g SugwR alEw w0 ORd § Tl F ooy X wdl wdeel @
TaT )
whrfi e agad
(A) @ - weTR fea () Amthe A wd srftemar ade
(B) wwwm — e Iwl () ghg, sfhemn ud abirefa
% g LRkl
(C)/\/GafaR/ srengn ) i) eidaer, (finaf, s
) fatr= et & e (V) wfea ofaa
T TR B W=
S aRe ¥ e ' wleen w wgem g -
() (A)-dm, B)-av), (-0, [D)-{d)
2) (A)-dm, ®)-av), (©-an, Oy-@
(3) (A)-adn, ®)-av), (€-an, {Oy-o
@) A)-), B)-(v), €)y-3), O)-dm)
28 Synchronous media of communication includes - _
(1) Chat - (2) Video conferencing
{(3) Teleconferencing (4) All of the above
HUwor & JEwaG HEH ¥ - |
(1) e (2) TRy ®isaRiT
(3) HRBITHRIT (4) wwEa
05 _C}: - 11 [Contd...
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29 Which statement does not depict the concept of pedagogy appropriately?

(1) Systematic application and scientific knowledge of teaching and
learning

(2) Science and art of teaching and learning
(3) Systematic science of deriving 'abstractions' and ‘generalisations’
(4) Endeavour of bringing pupils, teachers and technical means together.

Frer & 9 @-ar wem e smer & emuwem F aRie w9 @@ -
(1) f%T&maT&mrffawﬁstEﬁrm‘crﬁaaugﬁfa

(2) Twer wd afrm &t e w@ @

(3) "R TF A WY @ wrafey e

() ol el G aeEl gEEE B TE @Y WY e T

30 Specific learning disorders and their symtoms are given below -

1 II
(A) Disprexia (1)  Specific writing disorder
(B) Dyscallullia (I)  Specific arithmetic disorder
(C) Dyslexia (Il Disorder for reading, writing and

math ematical abilities
(D) Dysgraphia (IV) Special reading disorder
Which one is the right combination ?
1) (A)-O, G-, (€)-av), (D)-JD
V) VS Gy HLam, V@ <ammy, | i@y <ay
G) (A)-m, ®B)-11), (C)-aAV), D)-)
(@) (A)-aV), (B)-(D), (C)-(I), D)-()
ﬁmﬁrﬁwﬁrﬁm@ﬁ@maﬁlﬂm@aﬂ%ﬁﬁwmanmﬁmaﬁﬁﬁﬁ
¥ -

1 11
(A) Teaifrmn O T == =fmy
(B) fewbgpforan I Rfire 1Py =iy
(C) Temirmr () ®fire dew @ ey =fmy
©) Feafsm av) fifire amm afmw

o TRRRE % R T wheet @ e gh -
1) A)-®, B)-dI), (C)-AV), (D)- ()
@) (A)-av), B)-1D), (C)-J, D)-®
G) (M-, (B)-(D, (C)-aAV), (D)-()
@) (A)-Q1v), B)-D), (C)-am, D) - (@
05 C] 12 [Contd...
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31 An o-—particle is
| (1) hydrogen atom devoid of electron
(2) a helium isotope
(3) a doubly ionized helium atom
(4) a singly helium ion
T o-—®T T §
! (1) TegH R emgo o
(2) FEm & UH TS
(3) uw Teomufra dfwaw T
(4) THH ARG oA STH WA

32 Molecular weight of an oxide of nitrogen is 44. The number of electrons
in a molecule of this oxide is

ay 1s 2) 22

(3) 23 (@) M
‘é RIS % SEES @ SR 44 ¥, 395 o] ¥ ToeE @ Wel ¥

: M 15 @ 22

j 3) 23 4) 44
> 33 The\ minimum jnuimber-of funpairedolectrons | are dressat (in) the element

t having atomic number. |

1) 6 @ 7

(3) 8 - @ 9
'% Prer ¥ Ry O W AR w W orgRT TeT @ den S ¥

| 1 6 | @2 7

(3) 8 4 9

34 Isotones A, B and C have mass numbers 30, 31 and 32 respectively. Atomic
number of B is 15. number of protons in A and C are :

(1) 14 and 15 ' (2) .14 and 16
G) 16 and 16 4) 16 and 14

TEFT A, B @ C & ¥ea ged #W 30, 31 4 32 ¥ t B @
] e 15 § 1 A da CF TN &) dem :

(1) 14 & 15 (2) 14 T 16
(3) 16 @y 16 (4) 16 qur 14

05_C} 13 [Contd...
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35 Inert pair effect is shown by
(1) s-block elements (2) p-block elements
(3) d-block elements (4) f-block elements
Miwma g ae @ iy ¥
(1) s-=A®| I 2) p-=k TA
(3) d-=Ate od (4) f<il® o=
36 A metal that forms acidic oxide
(1) Zn @) Al
3 Cr 4 N1
T uig S ol GRS S 3
(1) Zn 2) Al
(3) Cr (4) Ni
37  Vitamin Bj, contains :
(1) Fe (2) Co
(3) Cu (4) Ni
R @, ¥ BT
(1) Fe | (2) Co
(3) Cu (4).: Ni
38  Shape of Ni(CO), is _
(1) Tetrahedral (2) Square planar
(3)  Octahedral (4) Linear
Ni(CO), @t erpla ¥
(1) g Q) TEW aTER
@) ETEE @ Wa
39  Which carbonyl is paramagnetic ? _
(1) Ni(CO), _ (2) Cr(CO)
(3) Fe(CO)s 4 V(CO)s
ITPEBIT HEAEA BA-G1 & P |
(1) Ni(CO), (2) Cr(CO)
(3) Fe(CO)s @ V(CO)s
05 _C] 14
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40  Strongest metallic bond will be present in
(1) Fe (2) Mn
(3) Sc 4y Cr
Y YRR enfeaw S SuRed €N
(1) Fed# (2) Mn ™
(3) Sc¥ @4 Cr¥
41  Which ore is concentrated by froth floatation method ?
(1) Bauxite (2) Haematite
(3) Sulphide (4) Cryolite
A waq fafr & few o @1 wwr TR W@ ® 7
(1) sEHEe (2) Tedemse
(3) uFRRES @) wEEEe
42  Aqueous solution of sodium sulphate will be
(1) neutral - (2) buffer
(3) acidic (4) basic
- |ifdgw ww%he & swg fawem e m
(1) SN (2) W
3y IRt 4y~ et
43 In thyroid disorder the isotope that is used is
(1) 2%Na (2) 3?p
(3) 60Cq 4) 1317
gty e § Rm gaenfe oo @ e S R, aw @
(1) 2%Na @ 3
(3) %Co 4 B
44 Qut of the follwoing which bond is of least strength
(1) Hydrogen bond (2) Ionic bond
(3) Covalent bond {4) Metallic bond
frafafga & ¥ @@ ey w9 wu gfka & ¥
(1) EiEEeE ST (2) omARTE STy
- (3) wEHdNE SIS (4) uifew smaw
s Cl1 . .. I £

www.upscstudymaterials.com
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45  Which of the following anion is the weakest base ?
(1) C,H;O0 (2) NO;
3) F (4) CH;CO0™
Frafafleas & & @S- woneT wed w9 ag ¥ 7
(1) GCH;O (2) NO;
(3) F (4) CH;COO0™
46  Stable end product of 238U will be
(1) 206py (2) 234Th
(3) 2351y (4) 209R;
U w1 g sifew saw §
(1) 206py, 2) 234ThH
(3) 235U (4) 209Rm;
47  Which of the following is most unlikely to affect the rate of a chemical
reaction in general ?
(1). Size of the reaction vessel
(2) Temperature
(3) Concentration of the reactants
(4)  Concentration of the products
ﬁwﬁﬁ%ﬁﬁ@rﬁwwuwmﬁmmﬁﬁm%éﬂwﬁaﬂw
Y wH T ? - |
(V) sifafiparn) s & |y
(2) 9
() aiferd @ awEr
(4) SRl @ W
48 The order of a reaction is obtained from its
(1)  stoichiometric equation
(2) rate equation
(3) number of reactant molecules
(4) number of product molecules
foddt otffear & AR w & w1 T T vy
(1) Wikramd efewo §
) &7 e §
() ERE el @ wen @
(4) S®E el @ dem 3§
05_CJ 16 [Contd...
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49  Which of the following reactions occuring in time scales shown is fastest?
(1) Pico second (2) Nano second
(3) Femto second (4) Milli second

T T T TR § g 8 ol sifwfrmel ¥ @ deraw
BT ?

(1) T deovs (2) T qavs

(6) H= dovs 4 it Swvs

—dlA -1
50 The rate of a reaction is described by d[t ]=1€[A][B]2 [C]3 (D] !

which of the following statement is not true. The rate of reaction will
increase on increasing the concentration of

hH A @ C

3y D (4) B

ww sItHiEar @ 3 9 TER @ fpar T ¥

*dd[f] =k[A][BI’[C]’ [D]™ Peafifaa woet & & da—ar wdl =& ¥ ?
Afufear w1 T g5 wEW ol Prwitea A wiEar se & wE

(1 A 2 C

3) D 4) B

51 The'imeckzaism oftheorzaction’ F - S5 delas follovws

K
P---1—->S(slow)

K
S+Q—2—>R (fast)

The rate equation and the order with respect to P and Q are given by the

ser
(1) K, [P, 1,0 2) K, [P0, 1
() K, [PI[Q). 2, 0 #) K [PP 2,0

STtHfshTT P+ Qo R M fpaifaly w0 v &
PL)S {71)

Ko |
S+Q—=—R (J) _
o FHIETT GO P g Q & g wife Fpifea de 7T o @ o1 9 &

,(1) Kl [P]’ la 0 (2) K] [P]Z’ 0, 1
3) K, [PIQ] 2, 0 4 K; [P]% 2,0

05_C] 17 ' [Contd...
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The enthalpy or heat content of a compound is equal to its
(1) Heat of combustion

(2) Heat of solution

(3) Heat of formation

(4) Heat of neutralization

et dfie & GITlt A1 et S wER A ¥ e
() T F

() faema-—wsn %

(3) dH9ET-=S &

(4) <EEARE FE %

For a spontaneous Chemical reaction which of the following conditions
is incorrect ? '

(1) - It is accompanied by a decrease in free energy

(2) AG is negative

(3) AG is positive

(4) AH is less than TAS

v s A Tt a3 fie Preiier ¥ ¥ @ whes
NEIRE

(1) ved e ot ¥ A A

(2) AG TS T ¥

(3) AG wFTe™s ®ar §

@) AH @ W TAS ¥ w B ¥

54  The entropy of all elements and compounds at absolute zero is expected
to be '
(1) maximum - (2) zero
(3) not determinable (4) not known
T I AW YT W qal ok e @ ol enfda ¥
(1) it @ I
| (3) ertrahel 4y omE
05 (] 18 [Contd...
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35 for the oné step decomposition reaction CaCQ, —QZX—-)C30+C0 5 the
entropy change is '
(1 O (2) positive
(3) negative (4) not known
T =T B A (Q% vd@) ergee sifif CaC03——A—'>CaO+C02
(Iy O (2) wETR
() FHH 4 ot

36  Which of the following is the only factor in determining the feasibility
of a reaction ? _
(1) AG (2) AH
(3) 4s | @ T |
Wmﬁ?ﬁm%ﬁ%ﬁﬁwﬁaﬁamﬁ%mﬁﬁﬁﬂf@aﬁ-
BE-H TF AN GRE T 7
(1) AG 2y AH
Gy as. . @ T

57 How many, erams, of g’.uéose be| dissplved morimake-ore (litre |solution of
10% glucose ?
(1) 10 gm - (2) 180 gm
(3) 184 gm | (4) 18 gm o
10% "B H 0F WX freat @ & fr Reet am gee @ ey
q dieE oiEy ? - : -
(1) 10 9ym\ (2) 180 1w
(3) 1.84 1w (4) 18 9™

58 The molarity. of a solution containing 4 gm NaOH in 250 ml of solution-
is : :
(1) 0.05 | @) 1.0
3) 2.0 ' (4) 04
4 W NaOH & 250 et foerem & Aiwddr & &
(1) 0.05 2) 1.0
3 20 @ 04

05_CJ ‘ .19 _ : [Contd...
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59 Most acidic acid is
(1) CCL,COOH (2 CHCIL,COOH
(3) CH,CICOOH (4) CH,;COOH
EE G A
(1) CCLCOOH (2) CHCI,COOH
(3) CH,CICOOH (4) CH,;COOH
60  X-ray analysis of solid alkanes (Ci¢ and above) indicates the presence of
(1) C-C bonds in a horizontal line
(2Z) C-C bonds in a zig-zag line
(3) alternate C-C bonds in vertical line
(4) C-C bonds in a ring
Clé%w%aﬁﬂqﬁﬁrwxﬁﬂwﬁrsﬁwémﬁmﬁrm
o E ¢ __
() CC 59 uss W R Y s ¥
() C-Co4 uh W-4 W § ¥
(3) THENR C-C 9y gy ¥
4) C-C 99 Uz 95y e ¥
61  The chain initiating step in the halogenation reaction of alkanes with
different halogens is,fastest in the: case of
)iy @) L
3y CL 4 Br
iﬁ%ﬁ%%ﬁﬁﬁaﬂwﬁs{@m@mmﬁw%@mwwﬁeﬁa@m% ?
Iy F, 2 1
3 <, 4) Br,
62 Which of the following is allyl group ?
(3) CH,=CH-CH, - 4) CH, _(|:=CH2
frfifes & & e @ & dw@m @1 97 SR
(1) CH, =CH- | (2) CH;-CH=CH, -
() CH, =CH-CH, - @ CH, _(;:=CH2
05_CJ 20 [Contd...
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63  The number of alkenes possible with the molecular formula C5H,q is
(Iy 4 @) 6
(3} 5 4) 3
C5H)o ¥ Wk Qerit o wemm fwrdt @ 2
1) 4 2y 6
(3) 5 4) 8
64  Carbon tetrachloride is used as fire extinguisher under the trade name
(1) Pyrene (2) Perchloromethane
(3) perspex (4) percelene
HET THEISS B s § W ¥ swEhr Ry T @ e o § 7
(1) =l | 2) TR
() v @) wEN
65 The reaction of ethyl halide with aqueous caustic soda is an example of
(1) Nucleophilic substitution
(2) Electrophilic substitution
(3) | Elimination | reaction
(4) Nucleophilic addition
o tge WS difted e @ R Reww seeor ¥
0
@) TR e
(3) fadwT aifufean
4) TS @
66 lodoform is mainly used as
(1) analgesic (2) anaesthetic
(3) antiseptic (4) antipyretic
SEREH W e Swan e w9 ¥ e 7
(1) drserd (2) TSTERH
(3) RO (4) amatrREr
05.C] 21 [Coﬂtd...
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67  When red hot copper wire is plunged in ethanol, we get

(1) a ketone _ (2) HCHO

(3) CH;CHO (4) . (CH5),0
wmﬁwmaﬁqiﬁmﬁyﬁwwmﬁm% ?
1) & dem () HCHO

(3) CH,CHO 4 (CH;),0

68  Carboxylic acids on heating with P,Os give

(1) Ethers (2) Alcohols
(3) Carbonyl compounds (4) Anhydrides
FrETeafE over B P05 % W A B YT §AGT B
(1) ¥ | (2) Uereter
3) @it dfe 4) UETEEs
69  Electrolysis of sodium acetate gives
(1) ethane : (2) methane
(3) ethylene (4) ethyne
Hift TRz & dym-smuer ¥ = wwar T 7
Q) v ) SR
()  didmr @ wum

70 Acetic acid can be prepared by heating methyl cyanide with _
- (1) dilute NaOH solution o
(2) dilute HCI solution
(3) Na and C,H,OH
4) P50

ﬂﬁmwﬁﬁmﬁ%ﬁ%%ﬁm&nﬁmﬁw@ﬁ%w
g E P

(1) ¥ NaOH Ryeaw -
(2) a7 HCl fyere
(3) Na @ C,H,0H
(4 P,0,
05_(] - 22 [Contd...
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71 Soaps are
(1) sodium salts of alcohols
(@) sodium salts of glycerol
(3) sodium salts of higher fatty acids
(4) sodium salts of alkanes
WA (Soap) w1 Aar ¥ ?
(1) Uepreicl &1 difvan waor
(2) Pawte @ Qfan qan
() TEar Tl owl w1 QR e
@) THN F DfeEm wEm

72 Reaction of benzene with acetyl chloride in the presence of anhydrons AICI,

gives
(1) Acetophenone | (2) benzaldehyde
(3) benzophenone (4) benzoyl chloride
ﬁvhhumcga?rwﬁaﬁﬁfé\?ﬁaﬁﬁmﬁamﬁﬁmmw
Mg E P
(1) TRIHAE - (2) d~WfeEss
G) ¥R @) Ao wEs

73 Alkynes add on hydrogen in the presence of Lindlar's catalyst to give
(1) cis-alkenes (2) trans-alkenes
(3) alkanes (4) cycloalkanes
fiseme sdw @ SRRt ¥ Yemt ¥ wEgw % 4 A a3
() R@ i ) e T

(3) Ui (4) wEFERwsT

74 Alkenes react with coid dilute alkaline permanganate solution to give

(1) an alkanol (2) a cis-1, 2-diol

(3) a trans-1, 2-diol (4) an epoxide
Qﬁﬁaamav%agmﬁqumﬁwzﬁrM@rw%
(1) & qera (2) w fow-1, 2=me
() T -1, 2-swEaltd 4) TF THiEEs

05 _Cj - 23 [Contd...
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Alkynes react with ozone to form ozonides, which on hydrolysis with acids

give

(1} 1, 2-diketones

(2) 1, 3-diketones

(3) carbonyl compounds
(4} carboxylic acids

EEGHE-CO

(1) 1, 2-swmaam
2} 1, 3swEHREN
(3) wEit s
(4) wEifeiees s

Benzene reacts with CHCL; in the presence of anhtydrous AICl; to give
(1) Diphenyl

(2) | Diphenylmethane

(3)  Triphenylmethane

(4) Triphenylchloromethane

é‘«?htrwamémcgﬁwﬁaﬁrffcmlﬂ?rﬁw%ww% ?
(1) sis%t@ -

(2)  =RGHEHEST

() wrEHEHe

(4) kRS

Which of the following sets of groups is mainly m-directing ? h
(I) ~-COOH, -S0,0H, —-CHO

(2) -OH, -OR, -NH,

3) -OH, -CH,, ~NHCOCl,

(4) -SO,0H, -OH, -NH,
ﬁw%rf@aﬁﬁﬂqﬁmﬁﬁ—magaaa@a: mdsht & 7
(1) -COOH, ~-SO,0H, —-CHO

(2) -OH, -OR, ~NH,

() -OH, -CH;, -NHCOCI,

(4) —-SO,0H, -OH. -NH,

05.C1 24 [Contd...
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78 Which of the following aromatic compounds is more reactive towards
electrophilic substitution ?

(1) Benzene (2) Toluene -

(3) Benzaldehyde (4) Benzonitrile

et S0 AR F & A R s § it
e T ?

(1) =i (2) T

(3) I=-foees ; (4) IR

79  Which of the following is not a polynuclear hydrocarbon ?

(1)  Anthracene (2) Naphthalene
(3) Mesilylene (4) Phenanthrene
Prafaflad § ¥ B-u1 (g gEReET A8 ¥ 7
(1) TamE 2 AR
(3) ufefeim 4 ®iA

CuC ;
80 The reaction CgH, vapour + Air + HCl——l-l—l—;'——>C6H5C1 is known

as
(1) Richter reaction
(2) Raschig process
(3) Reformatsky reaction

(4) Reimer-Tiemann reaction

Prefige afifen foa 7@ & AR & 7 CgHg ami + ag + HCI
R NS

(1) frorex afapan (Richter reaction)

(2) W WH (Raschig process)

(3) TonmcmEn srfafopan (Reformatsky reaction)

(4) TH-dm atfaRFar (Reimer-Tiemann reaction)
05 C] 23 [Contd...
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81 The products A and B in the reaction sequence .

conc. HNO, A S, +
conc. H,80, ~ HCI

C4H

(1) Nitrobenzene, aniline

(2) Nitrobenzene, phenylhydroxylamine

(3) Benzene sulphonic acid, benzene

(4) Nitrobenzene, azobenzene

Frerfefae ofefea orgem % A wen B @ & 2
YFE HNO, L

—>A—2 B
| H,S0, HCI

() -wBF I, hel

@ = I, ST
(3) I wewifrerw, A=l

(4) gl S, Aeeshe

CeHg

82  The widely used pain reliever “aspirin” is pre‘parecf by
(1) treating phenol with acetic anhydride
(2) reacting salicylic acid with methanol
(3) reacting salicylic acid_with acetic |anhvdride
(4) " Teasiing phenol with sulphuric acid - |
() Wt @ 0w temgEe ¥ R @
(2) AR o w AT @ fear @
(Dﬁﬁﬁ%r%mwwﬂﬁﬁmﬂﬁm;ﬂgﬁm,m
@) Wi R eeERE o W fear o

83  Which of the following medicine is not anti-biotic ?
(1)  Terramycin (2) Streptomycin
(3) Morphine (@ Penicillin
Frer & 3 - ohofy Afeamithn @ & 2
(1) = @) BmEde
(3) = @ e

05 C) 26 | [Contd...
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Nitration of benzoic acid gives the product

COOH COOH
) @ @) @

NO» NO2

COCH : COOH

NO NO
®) @ : @ @’ ’
| NOy

Fige oF H TEIHT! ¥ W A ¥

COOH COOH
() @ @ @
NO3 ~NOz
COOH COOH
NO» NG
3) . @) |
NO2
85  Enzvivies ere
(1) Proteins (2) Minerals
(3) Fatty acids (4) Oil
TTETE B ®
(1) WeFE (2) @™
(3) T o= (4) /@
86 FExample of a diamagnetic compound
(1) NO 2) NO,
3 O, _ % Cl,
grgada i & SEET ¥
(1) NO (2) NO,
G) O | @ Cl,
05_C} 27
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87 Molecule with V-shape geometry

(1) BeCl, (2) HgCl,
(3) 80, @) co,
V-3l e ey %

(1) BeCl, (2) HgCl,
(3) S0, @ Co,

88 Which of the following compounds exhibits intramol;:cu_lar hydrogen

bonding ?

(1) Phenol (2)  o-chlorophenol
(3) m-chlorophenol (4)  p-chlorophenol
-m:m@awa&ﬁw@rﬁm%

(1) T ) oﬂiﬁ'ﬁtﬁﬁa
3)  mIRRET @ paie

89  Hybridization of iodine in ICl, is

(1), ,.Sp ay|sh vy
G S’ | @) Spid :
ICl, ¥ oma & warcr araeen 3 |

(1) Sp o | ) 'sz

@) sp? | @ spid

98 Molecule with maximum dipole moment is

(1) NH; (2) NF;
() co, “ cH,
wifrs Ry v awn omy 3 |
(1) NH; | (2) NF,
B) Co, (4) CH,
05_CJ 28 [Contd...
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Which of the following relation is not correct ?
h nh
A=s— =
m r=o @ mr=o
' 2 _he A
= E=h—
(3) me N “4) o
frer ¥ A Brw waw wE R E 7
) T mv -9 2T
2 he : ' A
= — E=h'—
(3) me Y 4 o
92 Be?" is isoelectronic with ?
1) H @) Lit
() Nat (4 Mg
B P ¥ PRed wieERitw ¥ 7
1) H () Lit
(3) Na® @) Mg
93  Wilkinson's caialyst Us—used ' dor
(1) Polymerization (2) Hydrogenation
(3) Oxdation (4) Halogenation
faftegm saw fr & fd wge @ @
(1) TEEBIH (2) ERERHGBE
(3) i@ @) S
94 In the comple;c_, Fe(CO),, the value of x is
(1 3 @2 4
@) 3 4) 6
Fe(CO),, ® x & W ¢
(1) 3 _ (2) 4
(3) 5 . @ 6
05_C] 29 [Contd...
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95
(1) cation (2) molecule with orbital
(3) point charge - (4) afrion
fowew &% e & argan fe ¢
(1) =R (2) ¥ WA 3
(3) feg smy 4) e
96  Which of the following is an organometallic compound ?
(1) [CHC,0,);P" @ [FeCN)
(3) [PCl(C,H )T (4) [Ti(OC,Hy),]
Fraffes ¥ & P wdaies dm ¥ 2
(D) [CHC0,P™ (@) [Fe(CN)~
() [PCL(CH)Y (4) [Ti(OC,H;),]
97 ~ Which is not a fblock element ?
(1) Lu | 2) Tc
HVV T (4" Pm
e & @ @ f=ie B oA L 7
(1) Lu @ Tc
3) Tm (4) Pm
98  Which of the following elements belongs to actinide series ?
() La | @ Gd |
(3) Lu (4) Th
Frt & & @-w1 o whreme @l a7 2 ?
(1) La 2) Gd
(3) Lu (4)' Th
05 _CJ 30 L [Contd...
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In lanthanide ions (Lf‘+ ions) the highest value of magnetic moment (1 B)

is associated with the ions
(1) Gd3* jon (2) Nd*, P>* ions
(3) Dy, P2* ions @ L] ion
- 3+ . .
U e (L o) § gada el (uB) @ galtas HE B
3

() Gd&* " @) Nd3*, p2* el ®

(3) Dy*, Pn?;‘“ o o @ L2 EF

How many years will be taken by a radioactive substance to remain
-é-th of its original amount, if half life is 13 years ?

(1) 39 ) 48

(3) 26 (@) 52

e Yot v B oworg 13 T ¥ 1 wew At w9 e F A
L

(1 39 - () 48

-3y 26 4) 52

The rate of a reaction in a multistep reaction is governed by
(1) Fastest step '

(2) Equilibrium step

(3) Slowest step
(4) Any one of the steps of the reaction

ﬁs&ﬁagqaﬁuexﬁ:ﬁmw'éwﬁuﬁwﬁm%
(1) deEd @ BRI

(2) 9/ T8 E

(3) WEEH UE BRI

(@) Tedr f e afufFn e B

05 C] - 31 B [Contd...
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. of the following is a valid expression ? :
M Hprodues > Hyeoants
(2)  AHpagiion < O
() AHggin > O
4)  AH__ o0 I8 positive _
wmﬁﬁraﬂm_mem+w%%ﬁﬁmmﬁﬁﬁ
B e Yy ¥ 2 -
(1) Hm?: > Harﬁmr(a;
(2)  AHgppe, < O
(3) AHgper > O
(49 AHgpp . 9RTEH +
103 Which of the following is a set of state functions
(1) Enthalpy, Internal energy, Entropy
(2) Enthalpy, Work, Heat absorbed or evolved
(3) Free energy, Enthalpy and work
(4) Internal energy, Pressure, heat absorbed or evoived
Pt & w4 oo @ 3 7
(1) wdedt, ofials o, ezih
) AW, #, seife @ Prepfig gt
() IF @i, e, wrf L
(4) e oo, T, FNT T Premfg o
104 For an isobaric process (i.e. reaction proceeding at constant pressure), which
of the following is incorrect 7 o
(1) Ap=0 @ AH=AE+PAV
(3) AH=q, - 4)  AH=PAV -
Wﬂwﬁm(mahaﬁrﬁmﬁﬁmwwmﬁﬁ?ﬁ%) % fog
fretfifean & & @ oAy ¥ 2 |
(1) Ap=0 (2)  AH=AE+PAV
@) AH=q, () AH=pAVY
05 C] 32 {Contd....
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105 Tce and water are at equilibrium at 273 K because

(1) AH>TAS (2) AH=TAS

(3) AH<TAS (4) AG is positive
% ot UFl 273 K W wamERen § ¥, wile -

(1) AH>TAS (2) AH=TAS

(3) AH<TAS (4) AG TR B ©

106 The degree of dissociation of an electrolyte in a solution depends on all
of the following, except

(1) dilution (2) nature of solvent

(3) temperature (4) conductance of the solution

Rt & Fodt dge omzm @t fdew @ e frw ¥ & R o feR
T& B ? |

(1) «qa @ Fmms w ypla
(3) @ (4) Faega # <

107 The solution of ferric chioride is

(1) slightly acidic ) _slightly _alkaline
(3) neutral (4) amphoteric

¥H FES @ TaE e

(1) Tl oFd B ¥ (2) wobl @@ O B
(3) SaEN B R (@) Swmpl e ¥

108 The simplest aikane which exhibits chain isomerism has how many carbon

atoms ?
(1) 4 @ s
(3) 6 4) 3 |
T EEEAad VIR B O e Qebd ¥ ey HEA 9wy e
¥ |
(1) 4 ) 5
(3) 6 4 3

05 C} ' 33 [Contd...
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109 Molecule, in which the internuclear distance between two carbon atoms
is longest is '

(1) C,H, 2y CH,
(3) CH, (4) CgHg
Frefefan et F i < waie fee & a9 [
(1) C,H (2) C,H,
(3) GCH, (4) CgHg

110 The simplest alkene exhibiting geometrical isomerism is

(1) propene (2) 1-butene

~{3) 2-butene (4) isobutylene
Wﬁ?ﬁ?ﬁﬁﬁwﬁmwﬁwtmmw% ?
(1) Wi 2) 1=

(G) 2=EN (4)' SR CHE T

H1  Which of the following, stateinents 4s wreng P
(1) Conformational isomers of butane are easily interconvertibie
(2) Geometric isomers are easily interconverted by rotation
(3) A conformation of 1-butene is readily chénged to another

(4) A conformation of 2-butene is not readily changed to another

ﬁmﬁﬁﬁﬁ%aﬁﬁmmmﬂaﬁ% ?

(3) I-E{&FTWQ%W@FWW@WﬁWW%I

(4) 2—%@%mmﬁ@ﬁﬁmmml
05_C] 34 [Contd..,
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112 Ethylene reacts with alkaline KMnO, to form

(Iy CH,0H - CHO | (2) CH,0H- (‘HZOH
(3) CH,OH - COOH (4 CH;-CH,0H
ol Tor @l KMnO, @1 fear & =wan ¥

(1) CH,OH - CHO (2) CH,OH - CH,0H
(3) CH,OH - COOH (4) CH,-CH,0H

'113 The name for C =C-C=C
! }

CHs CH;
(1) 2, 4-hexyne (2) Dipropyne
(3) 1, 4-dimethyldibutyne (4) 2, 4-hexadiyne

C =C-C=C & W &
! |

CH3 CH3
(1) 2, 4-%=QET (2) SEATET
3) 1, 4-=Efueegesd (4) 2, 4-TAEEEET

114 Nltrobenzene on heating with solid KOH gives & mixture of o- and
p—mtrophenols It is an example of :

(1) an electrophilic addition reaction -

(22 a nucleophilic aromatic substitution reaction
-(3) . an electrophilic substitution reaction

(4) a nucleophilic addition reaction. -

ms@aﬁﬁﬂmaaKOH%mawmo-ampmsﬁq?mmmﬁm
T

(). TR TRRAT w1 SR ¥
(1), TwEd A s @ sTE

05:C| 35 [Contd.
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The num\ll\:,)\g\rN of aromatic nitro compounds with the molecular formula

115
C;H;NO, are
1) 3 @ 4
(3) 5 4 10
CHNO, S & ferd Q0ARe md-dfe ug 3 2
(1 3 @ 4
G 5 4 10
116 Phenylhydrazine is prepared by the reduction of benzenediazonium chloride
with
(1)  sodium and ethanol (2) zinc and acetic acid
(3) stannous chloride and HCl  (4) alkaline glucose
IhTeEtmy Fegs @ Rrad e T T Hhereriie o &
() «fRwm qon wdefg (2) oo am wdiftes e
(3) w79 wiREE W HOl () &#lm wwe
117 Nitration of acetanilide gives mainly
(1)  p-nitroaniline (2) o-nitroaniline
(3)  p-nitroacetanilide (4) o-nitroacetanilide
Qsﬂ?&&ﬁr@%msﬁwwa@ﬁ:mw% ?
(1) p--ZFRi () oI
() p-TEINER S ) o EitER s
118 What is A and Biin reaction -0
NaNoO, N _
C6H5NH2W A H,0 B+N,
(1)  benzenediazonium chloride, benzene
(2}  benzyl chloride, benzene
(3) benzyl chioride, benzyl alcohol
(4) benzenediazonium chloride, phenol
- NaNG, = .
CGHSNHZW A H,0 B+N,
T iR ¥ A qen B wwer: wm ¥
(1) Iiermifrm wiss, i
2) e TEs, ahE
() dfvm e, v A
(4) IVEEEIPRN wREs, W
05_(] 36 - - . [Contd...
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119 Cannizaro reaction is given by
(1) aldehydes containing o —hydrogens
(2) aldehydes not containing o —hydrogens
(3) a ketone having o —hydrogen atoms
(4) ketones not having o —hydrogens

Fremy affear Y oW At @ A ¥ 7
(1) o-—3geeE gH JivseEs

2) ¥ Ufeere R o-TEEeE T R
(3) o-FEEEA YA BET

4) o-TEIEE WA DA

120 Aldol condensation is the reaction of
(1) acetaldehyde and KOH
(2) formaldehyde and 10% NaOH
(3) formaldehyde and HCN
(4) acetone and chloroform
teeld o oftfean @9 o § S
(1) \ERRverE Fim (Ko Foan  BEn Sy
() wHReEEs T 10% NaOH fimam &xd &
() wiifeeEs o HON fear & &
(4) DT T CHCL, fean & #

121 Which of the following carbonyl compounds exhibits keto-enol isomerism
to an appreciable extent ?

(1) acetone (2) acetylacetone

(3) acetaldehyde (4) acetic ester

frfiaa FEitw DR ¥ gied W (appreciable extent) T HIE-S
FuTEEEEl B qeh &7

(1) e (2) UEhfewERE
(3) TugeleEEs (4) UEIH TR,
05 (] 37 [Contd...
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Acetone and acetaldehyde are readily distinguished by their reaction with
(1) lodine and alkali

(2) 2, 4-dinitrophenylhydrazine

(3) Tollen's reagent

(4) Chlorine and alkali

Wﬂam@zﬁmgﬁwﬁﬁrﬁam%%@ﬁmwﬁ%
(1) EEH 991 4K ¥ ayg

(2) 2, 4-sEEdGhE wREsY % gy

(3) < sifredes &

) FET T ar ¥ Wi

The process of converting an optically active compound into the optically
inactive compound is known as

(1) resolution
(2) inversion
(3) recemisation

(4) asymmetric synthesis

meﬁwﬁﬁﬁﬁmﬁwﬁaﬁhmﬁ%maﬁm%
(1) Fergiom

() wfaees
- (3) Rt
(4) ormtE dywwor
124. Sugar is present in the fruits in the from of
(1) starch
(2) fructose
(3}  cellulose
(4) glucose
®el ¥ SuRYd U @ wy
(1) =
(2 W
@) et .,
&)
05 C] 38 [Contd..:
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125 Which one of the following is most stable ?

@
(1) CH,;-CH,

@
(2) CH,-CH-CH,4

@
() c¢H,-CH,-CH,-CH,

&
(4) CH, —(1:—CH3
CH,
Prafafag ¥ § &9 @ waifw =g ¥ 7
! @
(1) CH,-CH,

®
(2) CH,-CH-CH;

®
@  GHa ot He

CH,

126 If two isomers are mirror image of each other, they are known as
(1) Enantiomers
(2) Rotational isomers
3) Diaétereoisomers

(4) Geometrical isomers -

A T W uw gEx % adu ulkied ¥, ween ¥
1) wfv yhfye (GPeEd) -
(2) i REICLE]

(G) onRRrd (e T

@) vl @

05_CJ 39 " [Contd...
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127 The correct name of the following is

COOH
H—————0H
HOQ————H
COOH

(1) [2R, 3S] — Tartaric acid
(2) [2R, 3R] ~ Tartaric acid
(3) [2S, 38] — Tartaric acid
(4) [3R, 28} — Tartaric acid
= b @ gl w3

COOH
H—<+1—0OH

HO H
COOH

(1) [2R, 3] - <’R® or

(2) [2R, 3R] - TRf& ovd

(3) [28, 38] - Wfw am

4 [3R, 28] — w’f@® s

123" 'The' beil” employed” for ultra-violet region is made of

(1) Glass (2) Quartz

(3) NaCl 4) AgCl

™ & N vy W 90 @ ¥

(1) @@ @& (2) TS @

(3) wRem wREs @ @ R wEs &

129 1In the first order reaction, concentration of the product with time
(1) increases (2) decreases

(3) first increases than decreases (4) remains constant

uwaﬁﬁmﬁﬁmﬁmﬁmw%ma

(1) =&h ) ==t
(3) wEE W e T (4) ferx Wl
05 C] \ 40 [Contd...
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130 Rate of chemical reaction increases with the increase of 10°C in temperature
because

(1) number of collision between molecules increases
(2) wvelocity of activated molecules increases
(3) activation energy increases

(4) ratio of activated molecules increases : _

am ¥ 10°C & ghe wA W wabe sl @ 3 sed o
(1) mgaﬁ%nwzmﬁﬁwww% |

) uhega ewEl & fy 98 e ¥ |

G) wheaw el 9% W @

(4) ufega ovgell &1 oEUE ¥@ ST ¥

131 The active species in Tollen's reagent is

() Cut
@ [Cu(NH;),]*
(3) Ag'

(4)  [Ag(NHy)d¢
<t ofwds § ahea el & ¥

(1) Cut
(2) [CU(NH3)2]+
() Ag*

@) [Ag(NH3),]

132 The number of optical isomers. in lactic acid

(1) 3 2) 2
ORE @ 4
A on F v oA @ pw e ¥
M 3 @ 2
@) 5 @) 4
05_C] 41 [Contd...
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The correct name for
CHj3
- /(IZH'CHg
CICHy~” ¢= “NCH;-CH;
(1) [Z]-1, 2-dichloro-3 -ethyl-4-methyl-2-pentene
) [E]-1, 2-dichloro-3-ethyl-4-methyl-2-pentene
(3) [Z]-3-isopropyl-2-pentene
4 [Z)-, 1—dichloro-3—ethyl-4—methyl-2—peﬁtene
= @ gl am %
CHj
O\._ .~CH-CH;
CICH2”"~ "\CH,-CH;
(D [Z]1, 2=Ea-3-oRm-4-S -2
@) [E]-1, 2-erdaar-3-gf-4-Sfm-2-3-9
() [Z]-3-seeimifir- 2= |

@ [Z)1, 1-<EwR)-3-uRe-4- AR

In carbonyl compounds Ni(CO),, Fe(CO); and Cr(CO)g the hybridisation
state of central metal atom is respectively

(1)~ 587, dsp?, 2 (2)  sp’,dsp?, d2sp3

(3)  spd, sp3d, sp3d? @) dsp?, dspd, dZsp?

FEIt G Ni(CO),, Fe(CO)s @ Cr(CO)s & ity urg ooy o
GHIOT SE HE: § .

(1), d?sp3, dsp?, dsp? (2)  sp3,dsp, d2sp
(3} sp, spid, sp3d? (4)  dsp? dsp®, d2sp?
135 How many ions are produced from [CO(NH3)501]C12
(1) 2 2 3
(3) 4 4 s
[CONH;)sCIICl, & fpaw emam s 7
(1 2 @ 3
(3) 4 4 5
05.C) ' 42 [Contd...
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136 Which is not an inorganic polymer ?
(1) Mica : (2) Silicone
(3) Ceramics (4) Buna-S
e ¥ ¥ BT GeNbe agas T8 8 7
(1) wgm (2) TaetsH
() it @ TS
137 Organometallic compounds used in preservation of wood are of
(1) Al (2) Li
(3) Sn (4) Hg
aﬁ%ﬁm%@ﬁw%%aﬁaﬁwﬁﬁmméﬁ%
1 Al @ Li
(3) Sn - 4 Hg
138 Element 107 has been made by the following readtion !
2B, + 34M 767 Uy +20n where M is
-(1') Cr (@) Fe
3V Cu ) NI
a 107aﬁﬁwa{ﬁqﬁmmww_% '
2098, + 5aM 21U +24n T WM ¥
H Cr (2) Fe
3) Co B 4 Ni
139 The bond order of the N-O bonds in NO, is
n 2 - | @ 1
3) L5 4 2.5
NO, ¥ N-O st @1 susha (bond order) ¥ |
(1) 2 @ 1
S (3) L5 @) 2.5
05.C] 43 [Contd...

www.upscstudymaterials.com

www.upscstudymaterials.com




140 The solution becomes blue by addin'g copper to a solution of AgNO;
because -
(1) Ag® ions are oxidised
(2) Ag" ions are reduced
(3) Copper is reduced
(4) Cu?* ions are oxidised
AgNO; & foea ¥ Bt fremt W Rremw fw & o & ity
(1) Ag* amw =1 sl d
2) Ag* T @ SEET T ¥
() Cu %1 sgags &9
4 Cu® @ e BT ¥
141 Which of the following laws of thermodynamics is used for the calculation
of absolute entropy of a substance ?
( 1) Zeroth lav {2) First law
(3) Second law (4) Third law :
W%ﬁ%ﬂgﬁﬁuﬁﬁﬁﬂ—quﬂéaﬁﬁﬁ?ﬂm"aﬁ
TFT & ¥ yged @y &7
(1) = fam ‘ (2) WM frm
G faia Frm @ i frem
142 The units of entrupy are :
(1) Cal-degree (2) Cal mol-! K-
(3) Kl/mol (4) KCal/mol
TG & A ¥
1) %mﬁ’r—%sﬁ 2) FR Al K-
G) Kimw @ frer Herd e
143 Which is re_sp.onsible for damaging blood ?
1) Ca - @ Mg
(3} As 4 Pb
T B JHAN qgEm &
(1) Ca @ Mg
(3) As 4 Pb
05_C] 44 [Contd...
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144 Among the following, greenhouse gas is

(1) Methane " (2) Hydrogen sulphide
(3) Sulphur di-oxide (4) Nitrogen
frffag § § Meew A9 ¥

(1) e (2) TEIST WEHIEE
(3) W SRS @) e

145 Which of the following gas is not responsible for stratospheric ozone
depletion ?

(1) CFC-115 (2) Halon-1211
(3) Carbon monoxide (4) Nitric oxide

P ¥ AR g, oSl WA % exw g SO a8 ¥ 7
(1) CFC-115 (2) FWE-1211

@) wdT A 4) TR ifeEs

146 The approximate region of absorption for n—m  transition is
(1) 200 um (2) 190 nm

CH VS, | (301150 Bml
n-n" FET F TGN w1 &S BT ¥ A
(1) 200 nm (2) 190 nm
(3) 175 nm : (4 150 nm

147 The hydrogen bonded —OH group has a characteristic IR spectrum band
in the region

(1) 3650 — 3590 cm! (2) 3400 - 3200 cm™!

(3) 3000 — 2500 cm™! (4) 3500 - 3200 cm™!

FEe eafyg -0 g IR WagA ¥ B 4w ¥ ww e ¥ (09)
I R

(1) 3650 — 3590 cm™ (2) 3400 - 3200 cm!
(3) 3000 — 2500 cm~! (4) 3500 - 3200 cm!
05_C}. 43 [Contd...
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Benzaldehyde reacts with acetaldehyde in the presence of dilute alkali to
give

(1) CgHsCH = CH,

(2) CgHs;—CH = CH-CH,

(3) CgHs—CH = CH - CHO

(4) CgHs—CH = CH- CH,0H

TEeRT AUl UKie-Ufwesgs W a7 @R @ IuRAa d R @ w=n
G S

(1) CH;CH = CH,

(2) Ce¢Hs;—CH = CH-CH,

(3) CgHs—CH = CH-CHO

(4) C¢Hs;—CH = CH-CH,0H

1l

Which of the following electrophilic substitution reactions is fastest ?
(1) Nitration of chlorobenzene

(2) Nitration of benzene

(3) Nitration of toluene

(4) Nitration of benzoic acid

Prefifar soaeierd TRRETET ¥ @ wed gq g ¥ 7

(1) TR & TR

(2) SN BT ASLHT

(3) cT«'j:f'. NI RCTRRS

(4) TRIESIT Bl ATZLB

_.CHz _CHO
nc” HC CHO
150 I + I —
HC% CH> CHy
above reaction is a _
(1) Polymerisation (2) Substitution
(3) Condensation (4) Cycloaddition
. CH> _CHO
HC/ - HC CHO
| + Il =
HCXx CH, CH,
e oifufea &
(1) sgara (2) ke
3) "= @) o™ ITHS
05_C] 46 [Contd...
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